Poznamky k 9. prednasce

f(f)“ A(t) |

| ‘?‘(at) —&—\-—

au(ﬂ E a.-a’tll-,) + 'b-% ()= u.u_)

Y, X & 32 :
\/\/ \/\ F(p) = ;,r fit) e e
{P'?IL'T.'}‘: (_?I"t‘:\ = 4
jy =% =
f(r)] "*i}k

f1+)
°o 1 17 mT t i
gl T(t-v)

J AT S(-yan

«y OO

[1T7] . K i, PR

oo
= mTY (e~ m
{ﬁ”}w-:o FOuTY (e - mT)
.‘:,?j
+ P,
gy - £lm) /-/
LApla;ooa +r. _//
oo ©w
F(P) > \r-?(t)'é?{d,l- aCZ’f*G)} '=02.[ §(e-mTY flaT) - ;Fi df =
2 S "
i t(w) ~
= 1 g™ zed
e -
B M =D FEN:J *

Z- +r'f_n_ sformace

o n i = s =



Z - +ran sformace

00 LS
| F(z)=_flnlz"", i .
n=0

T. Lineaydfo

L2 {e 40 sbqmal = o F LT = b Y g0

T, Zrdwee wikihe

a inl=2 " [F(az)}
E(ar'z) — =30}
. VETA © PoSuNUTY
L Z{fln—ml} = 27" Z{f[n]} = 27"F(2) Nn-meo: fln—m}—o

Z{f[n+ m|} =z" | Z{f[n]} — Z_: f[y]z”]
L v=0

V=

m-—1
F(z)- > f[u]z”]
0

¥{Plm0] =} meaf - PRy
2-1=1 - =
Z3 Lm0\t = 2r [F(e) -tz F[k]--éhjfzz [F(%)-FLO]'%O-FDJ'E‘]
=D

|

Z =
e - £ro1a - FDJ‘E'] = &) - © 8Ll - 400
F. E {fs-f-e,gnd“ {ou.zq_-f-

z{Zf[V]} _ Zle(z)

r=0

z{z f[u]} _ zi _F(2)
r=0




S

V. -Di.rz renca

T ————

o qes PR
< j,“”'&’\‘ £1)
) - A=) - -3
! ' FAT+T) - £(m
' A \\ 'F'(MT\"\: ~ . ) ‘F( T)
LD / ,
ek 2 Appy = £Lrer A - £l
mT MmT & T 1
0
A g[n] = £ L]
1
A')_‘F [xy = ¢ Cm.-v-r_( - L)
A -’ZL-M] =

A (&)= AT - £0)) =

T

FCura) - PLmat) — (FLm+ )= £ =
, SLur?) =~ 2- fCmri) + £ [a)
A%tpwd = o (A7 et

7 (a2l = tf tOme 1] - p[q’s = SZ{fln+m}=2zm

i m—1
AUUIEDY f[z/]z‘“]
L v=0
i m—1
F(z) — Z f[z/]z_”]
L r=0

0 :
=2 [FG\- } fLk] -ih] - FQ) = z-[ﬁq- gm-i"] - FQ)=
=0

-

:Zm

0@ -2 Py - Fd) = (R-)FQ) - 2-¢0e])
= 7 {-?CM-#?-] -2 fLm+1) + fE/u_]Z =

q

¥ (o

=z [ —Z—’oﬂtla] -Eh:\ ~AFfelmel} + Fay <

TLF@) - f0)-2 - 201 3\ - 2 FE LW} + Fa) s
= 2F@) - T E) -2 B0 -2 (2R - 2 PLAY) + Foyy=
F(2- 22 + A YFQ@Y - 40 - =60 + 22 PO <

Ko‘ﬂ(:oﬂ.u.c,g

Z{f[n] = gln]} = Z{Z fln— m] -g[m]} = F(2)- G(2)
m=0



V. Dervoce oOlraza

dF(2)
Z{nf|n|} = -z
{nflal} = 2%
Ta!oa.“e,é:
f(n) = 27 {F(2)} F(z) = Z{f(n)}
o(n) 1 1 1 K .
1(n) . _1~_1 = Tkl -2t 1- %
2 2 : . , .
_ = CETIE
- 3
na™— (1 — a_:—l)2 (M — (1)7
1 2
(n+1)a A a1y G a)
n (1—2-1)2 (z — 1)
2 “H1+4z27Y (z+1)
(l_A—l)B ( _1)3

~1
yCur2) + a %c_mq + b Q) = Tl Y)Y~ 3 @y R N =?€\’(’cﬁ
Nabidio - poptdule

V\ol—,k.] =C-ecCk-11+ PS'XJE)I.] )
bLel= -D- e[\ + B: 2[e) wl &) \Och]

C-elk-1) + AxlE)

\

=D ele] + B- (k]

¢ eTk-1l + defl = BxCe] - a-2[i] 3 ) =<lie]
B=A - o
WA+ poglm-T) = a- 2 (k) >
(&
5= P
vl = 100
{61 =0

1] eseeess ][]

L) + B 4 Ca-1 = w10~ |




4ORY + P 4 Cammr) = v 1D J

©) m=o: YLl + P y[-v) = w100}
'-&(_'_o] = —(5-‘%(}\] rot-Lfo] = «

m=1: AN 4-/5-%[0]=vc-1[4]
£ =-6 qCe] + a-1Cq] = -p-% oL = aw(i-P)

~nv=2: '3L.z]+/$-a[4] =« 1 (2)
PIER R (T (AR A ) R (S CAGEY ) Bl
T TA(L - xpA) + A =
s wF-op o =(Fpe) R

. " -
‘6["\1= 00(1“($+/51—/5§+(5" (‘/S)M')= °"HZ’°(°/&) =

M+

O ) T €.\ S ] CA
A + X T

w
A= TE Y aeg OO




